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According to the passage, conservationists believe that ....
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All of the following concepts are mentioned in the next EXCEPT...
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When was the greatest out break of the disease?
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Q: What is the main idea / topic / subject / title of the passage?
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The move toward empirical psychology (search for knowledge relying primarily upon
cumulative observation and experimentation) was given great impetus by individuals such as Rene
Descartes (1596-1650), who applied mathematics and mechanics to psy chological processes.
Thomas Hobbes (1588-1679), an English philosopher psychologist who based his theories

upon the works of Democritus, picurus, Aristotle, and Descartes, altacked a bread spectrum of
psychological problems including sensation, perception, memory and association.

Q: What would the possible topic befor the above passage?
1) Empiricism 2) cumulative observation
3) Associationism 4) psychological process
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IQ means intelligence quotient
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According to the passage, .....

The passage says that ........
It is stated in the text that .....
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Most sources of illumination generate light over an appreciable period and indeed if an object is
lit for a very brieftime, (less than 1/25 second), the human eye will not react in time to sec the
object. A photographic emulsion that is, a light-sensitive coating on photognaphic film. Paper or
glass-will-however, record much shorter bursts of light. A photographic flash can therefore be
used to capture high-speed movement on film as well as to correct deficiencies of the normal
surrounding lighting photoflash is now generated electronically but the earliest form, first used in
1864, was a paper bag containing magnesium wire and some oxygen-rich substance, when the
bag was ignited, the metal burned with an intense flash.

A contemporary observer reported that this quite unsafe device seems to have done nothing
worse than engulf the room in dense smoke and lead to pictures of dubious quality and odd poses.

Q: what does the passage mainly discuss?
1) the history of the photoflash
2) The technology of modern photography
3) The dangers of using the early photoflash
4) Theories about how the eye reacts to light

Q: According to the passage, 1/25 second is the minimum amount of time required for the

ooooooooo

1) recording of an image on film 2) creation of artificial light
3) human eye to react to light 4) generation of artificial light
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Which of the following is not correct? (co.s moo Soplas)
All of the following are true except ..... (5> 4 cusl o don)
Which one in not stated in the paragraph? (Sceul sais ojlo GLSTL opl o Soplas)
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I saw it, the snake | mean.
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Researchers hope that eventually they will be able to develop more advanced chips where by
they can choose a particular voltage to activate particular tissues, whether they be muscle, bone,
brain, or others. They believe that they will be able to implant multiple chips into a person to
deal with one problem or more than one problem.
Q: the word “others” in line 3 refers to other ..........
1) tissues 2) chips 3) voltages 4) patients
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"... The combination of Intel’s Internet 3D Graphics technology with the wide reach of the

Shock way Player the most widely developed multimedia player on the web with 137 million
users, will help broaden the use of 3D content on the web...?

Q: What makes it possible to broaden the use of 3D content on the web?
1) Intel technology
2) Macromedia Shockwave Player
3) Combination of 3D Graphics Technology with Shockwave Player
4) The use of cartoon rendering and effects like smoke, fire, water, and vapor.
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"... The first step in this process is to understand the requirements for optimum operation of each
device in the system. Each device has a peak power rating, a maximum case temperature, and a
maximum junction temperature. These three parameters are keys to determining what cooling is
needed.
The operating environment for the system is the next important piece of the thermal puzzle ..."

Q: What could be the first important piece of the thermal puzzle?

1) Peak power rating

2) Maximum case temperature

3) Maximum junction temperature

4) Conditions for maximum performance
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"... Hardware modifications like full or partial scan ease the task of test generation but they
significantly may increase the test application time ..."

Q: What is the potential of full or partial scan methods?
1) enhancing hardware
2) helping to generate test set
3) loading the tester memory
4) reducing the application time.
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" ... In the 1700’s, Benjamin Franklin, Alessandro Volta, Luigi Galvani, and other early thinkers
sought to understand the nature of an unseen, unnamed energy. Their test materials consisted of
such things as Kites, frogs’ legs, zinc, and salt water. but their findings allowed pioneers in the

1800s- Ampere, Faraday, Ohm, and Oersted- to discover the electrical properties known as
charge, resistance, potential, and current, and the dynamics among them ..."

Q: Why didn’t Franklin, Volta, and Galvani conduct testes in an electricity lab?

Because ...
1) electricity was unknown at their time.
2) electricity could not be seen by them.
3) they were poor and could not use a lab.
4) there was no name for electric energy.
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I’ll be glad to repair the motorcycle- that kind of work is right down my alley.
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Right now our plans are up in the air, but we expect to make a decision by next week.
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With her long, powerful legs, Louise is a grey- hound among beagles when she competes in the

440- yard dash.

oS Ll 5l Jg il oo €eligSL (slacKs o ,0 30 S ol oo s0itS s o] 15,0 4 ke aalS @ aulS e

Sl Gl jo Cazeo g0, TP s g0 adilics 3l alas Slol (o g Conl o gl wied ;a8 slaly I cog des glal jo

ool YL LS, 4y 51 30,5 9 o SO ) 45 Sl (ol ST ALS &l (ol a5 0 105 oo amS

Restatement <UIgaw 69 (52953l 08, 5b

055 o aloz a5 ol oS etz (2o po |) Ban alex (5w Aoz 4 az55 L sl ) ogee g5 SYI5u sl
1y o9 alali ailgi o il 0929 (e (9,0 lag] Bol e b (sl g8 l el a8) (5LalS I pdamy b (Sl (e 50)
Baw alex ol oo a5 Loz Shgie boad owilys Mz anglio b ays, K Bus alex JLss 4wl alais ] 5l a8 sl
33 4S5 00l 399 Jlgw ales 5l SLedS T jo 45wl lalex gl oles lids SV 51 can 0 Sl e a5 b )
il oo Bas alex £9,05 ahaii lam ... g ¥ g ¥ ales OV 5l an 40 g ol Jgl ez les SV 5l 5 L
1y LG Ml sl oo Sl (slione 3 SISTL 1o g9dg0 4 azgs b sl SISILL S 5l Gty Jols e S12) &5 &
25 S g b abadl o el sl S Cond Sl G g 010 18 G (55,0 B alaz 45 0 s
aloz 8L lm |y b b SLIS oo o @ az g b (i 9,85 G alexr (330 5 (S o Jlps aloz 512V 45 &
8,5 SaS £g, aladi 8L (gl oad ool 4 3F e Olgize Il 9] Cawdds s

0953 08t ool slaanlids g o yred 9 Doz (50,5 JLSbo 4 il oud 03ls 435 oz b (pe Moz vl 5o
Wigh by Ul Bl Baa ol 4 oy 61y 05 4z g lag]
b o 953 Ly b yad a2l o Sl il 48 sl (Sen w18 b pad sl 5 oS oy ) Lo e plad g o (]
Al 05,5 solaxw!
S da g8 (S S @aleo 0,60 05153 5 (e 1 1 Uee
"... In the early days of the electric power industry, the distribution systems were often mere
appendages to power generating plants. Their designs were predicated almost entirely on
practicality. With little study, their installation and operation were considered more of an art than

a science ..."
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Q: The make-up of the early distribution systems ...
1) was scientifically oriented
2) was based on experience
3) matched with the number of consumers
4) coordinated with that of the power systems
«T» &y s &
1y sl ool a3 oz j0 a5 Slex ol alox ol ogdle 0l go (e £5, b Gillae s g9, Aok« Jlgw 4 az g L
o py abor 20, Ko Sl onal 43S gz 53 a8 (Gl Sl pgs ader 3 il lpl aaswi L
o &z L1y "their s 510, .5 ks o |, "Their designs were predicated almost entirely on practicality”
oLSST (oS 0 50 Ls Mexperience” i o] Gloye U 1, practicality” o5ly cuimen o "distribution systems™ .
1392 W8lgS ) O)god axl alex
"The distribution systems designs were predicated almost entirely on experience"
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"... The low voltage electrical installation in a building is basically an extension of the public
supply and distribution network. The latter is the responsibility of the "supply authority”, which

for operational reasons will impose certain technical constraints on the design and operation of
the former ..."

Q: Why the distribution network is said to be under the responsibility of electricity board?
1) Because it imposes some technical constraints on the design and operation of low voltage
installation inside the buildings.
2) Due to the responsibilities of the former
3) Because it imposes some technical constraints
4) For operational reasons
«D» ag S s e
Sloslalwlan azgi b aloz fyizmed all oo pgo dlaz (Bad aloz 5 0l oo (yie glll Glon gg,d abal ¢ Jlgw & a>5 b
anxlye 8 alex 4 Wb 0 o o)Ll lay T @ o pos ol a5 ol (528 (6l .l wpen (5390 b latter 4 former ol
oegs 4 "the latter” oo g oul gl 4 Mthe former” oo a5 wiol 7 ae Jlgie & )90 o0l 98 Jol dhos 40 oS
5 "the low voltage electrical installation in building” 4 “the former” oo Jlis ool 40 20,5 salys o,lil o]
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Dy so a2 ) A S liax s
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"While reading about the future of the wireless telephone, | recalled some controversy over this
system. There is no doubt that wireless telephones benefit our society (a benefit that I do not

use). The industry’s approach to installing antennas wherever it wishes, however, over the
objections of local communities, does not benefit our society."
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Q: who the author blames for negative impacts of wireless telephones?
1) wireless industry as a whole.
2) companies that make antenna
3) poor engineers and technology direction
4) local communities and city administration
D ag S s e
sl— "the industry™ 5looi g ol o a S a b o e , 3la Lo o a4 Lox i wa a4 >5 L
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"... The quality of communications that takes place in an organization is greatly affected by the
overall design of that organization ..."

Q: The overall design of an organization ...
1) makes a lot of difference in the quality of communication in the organization
2) is highly influenced by the quality of the communication in the organization
3) greatly affects the quantity of communication within the organization
4) takes place in an organization according to professional specialty
W w35 s e
"the quality of communications that take Csu_e ale> | cld a5 090 o0 4> g0 1S dumlio Jlgus b 1) G0 alaz LSl S
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aloz g Jotome o8 4 Sow aloz bxil 1o 0105 oo 306 gl (595 (o090 ,N00 jlieas alligo (s090 36 Cod Jgl Soa
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"... The next great innovation for the Web came in 1992, when programmers from the National
Center for Supercomputing Application (NSCA) at the University of Illinois developed the
Mosaic Browser, a software application that displayed not only the text of a web document (or
page), but embedded graphic elements as well ... "
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Q: What is special about the Mosaic? It ...
1) contains both a Web page and graphic elements
2) brings multimedia in a page
3) contains web document
4) is a browser
W a3 1 a8
(Page) sl wiw SO o (Multimedia) 318 ae S "the Mosaic Browser” ol 1yl e ool 4 a>55 b
"WED e o sy oglas e ) WD alulis a T cpl Jy el oo B an ;545 s e Sl ol b ol e
Al oo Dl e V4T g Sl S0l cpl pls conl ouls S5 page”

S g5 Wil o0 (U ] g (S SN (5510 0)L,3 &5 15 e 4 1 JUee
"... Westerners are increasingly skipping lines at teller windows to take care of their banking
needs over the Internet ... The nonprofit Pew Internet and American Life Project found online
banking is rapidly catching on in the west, as an estimated 37 million American now pay bills
and transfer funds on the web ... Thirty two percent of those surveyed said they did their
banking online, compared with seventeen percent in 2000... "

Q: According to this article, which one of the following statements is NOT correct?
1) online banking grows fast on the west
2) Pew Internet is a nonprofit organization
3) 32% of those surveyed said they did their banking on the web
4) more people are using teller windows to take care of their banking needs
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1- Of the following, which can be the best title for this passage?
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2- "what does the passage (or the first, second ... paragraph) mainly discuss"?

S i ol Slaz 005 I sl el melss LT @ sm o a5 (BSSAY) (e 5 SISIL (385 4 ez s b

a5 1, thesis alex ol osl e , 515 wilss dsay il oo BLELL alox (sl Ygass a5 |, olsie alam wyly G151
el oal b ol dalsl o i Sleesss 0l il ol 15 Jol GILSTL 3T 45 Ygans

3- "The passage (or the first, second ... paragraph) can be best summarized as?"

a5 (] BT s aFamet BT & 5 (sl BT 51 ko) thesiS abez 4 sl e S (s3loasdls sl
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"... For intelligent systems research in e-business to have real impact, we need to cross the
existing borders between computer science and economic and management sciences. Truly
interdisciplinary progress in science appears difficult to achieve because of the traditional
decomposition into disciplines, which can turn different academic fields into almost separate
cultures. Nevertheless, the contributors to this special issue on intelligent e-business hope to
show how interdisciplinary thinking has helped to advance e- business. ..."

Q: The paragraph can be best summarized as:
1) Despite the fact that interdisciplinary progress in science seems difficult to achieve,
e-business scholars try to prove it helpful in this respect.
2) The traditional decomposition of science into disciplines has brought about crucial
difficulties for researchers developing e- business.
3) The impression of e-business on economic and management sciences has caused scholars
to consider interdisciplinary concept helpful in the advance of e-business.
4) Although intelligent systems research in e-business may seriously affect other fileds of
science, some students hope to follow it up through interdisciplinary approach.
D ag S s e
5 a_ib o "intelligent e- busINeSs” g4 550 45 58 o0 dxgin (Egog0 o as) BISIL gl dlas 28,5, o L
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4- ""The paragraph preceding the passage (i.e. before the first paragraph)would most likely
be about?"

L odlos oo JUsl ggo90 ool 4 awlyso 1) Jgl BLSTL Jgl (Odhez L) alos sl «¥lgm ais8 0l 4 (0555mls sy

AnsF e Sy sladl S
5- "The paragraph following the passage (i.e. after the last paragraph) would most likely
be about?"
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6- ""How does the paragraph logically relate to the previous one?"'
oo 0 1, GLILL Jgl Ohlox b alos 2o dlonss |, 0l S3F ¥ g5 @¥lg 0 a5 1) obapls syl oY ST o
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"... In the early days of the electric power industry, the distribution systems were often mere
appendages to the power generating plants. ... The area served and the number of consumers
were relatively small. ... Quality, in terms of voltage regulation and service reliability, was
almost nonexistent. Other means of taking care of people’s lighting and power needs were
readily available.
With the expansion in the use of electricity, the demands on the distribution systems became
greater and more complex ..."

Q: How does the second paragraph logically relate to the first?
1) It explains the requirements of a reliable distribution system.
2) It supports the idea of consumers demanding service reliability.
3) It introduces reasons why distribution systems had to be improved.
4) It introduces distribution systems catching up with power systems capacity.
O iy 3F 1
ol opdle €aisg: il 7aS (S 2SI (5551 42 30 4LDIS 1 o a9 on dzgie spilys |y Jol SIS AT aler 51
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7- "The word ... (usually it is a pronoun) in line ‘X’ refers to?"
adloslgso 1 00 518 T 9y0 pmed ol a5 slakes 5l 8 Mes b ez sl V15 £95 0pl 4 0955l sl
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"... For links that make use of a wide field of view, hemispherical lenses are generally used.

Compound parabolic concentrators are used for more directed links. In their quest for a high
SNR, designers of infrared links would like to use high transmission power. ..."

Q: What does the pronoun "'their' refer to?
1) concentrators  2) infrared links 3) lenses 4) designers
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The designers of infrared links are seeking ways to attain a high SNR
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8- "The word ... in line ‘X’ is closest in meaning to?"
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9- "What is the conclusion of the passage or the paragraph?*
O SLSLL ol jo g olsyl, 8 aalllas )90 1) BISLL 1 31 Yaare b (e S j0 V15w 5l egi pl @0 (0655l 5l
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"... Although Linux has yet to achieve wide popularity in the computer game world, it is
making rapid progress toward becoming the dominant operating system in the other major
entertainment arena: motion pictures. The Linux operating system initially found a niche for use
in computer- generated image rendering for film.
... Thus, when we see the entire film industry adopting Linux to remain cost- and performance-
competitive, how can we help but wonder what new realms Linux may conquer next?"

Q: According to the passage, which of the following statements would best be the
conclusion of this passage? Linux ...
1) has still new realms to conquer in the future.
2) has had great achievements in the motion pictures industry.
3) is used for an animated feature’s entire production process.
4) is the only operating system used in the motion pictures industry.
«D» ag S s e
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10- ""What is the author’s view on topic of the passage?"'
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"While reading about the future of the wireless telephone, | recalled some controversy over this
system. There is no doubt that wireless telephones benefit our society (a benefit that 1 do not
use). The industry’s approach to installing antennas wherever it wishes, however, over the
objections of local communities, does not benefit our society.

For example, regardless of the design, antennas are and unsightly intrusion into local parks
and playground. When they are installed there over the objections of the community, the system
degrades our society. Moreover, it reflects poorly on engineers and the technology they bring to
our benefit. The industry needs to approach the planning and installation of antennas with greater
sensitivity and creativity than it has shown to date."”
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Q: Which of the following best explains the author’s view on wireless?

1) It benefits our society.

2) Expanding wireless should be coordinated.

3) It intrudes into local environment

4) 1t does not benefit the local communities.
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Example: Their traditional label of "general purpose” components is quickly moving the way to
"tailor- made" components.

(a) CLUE: "tailor- made" is in contrast with "general purpose.

(b) MEANING: __ special purpose

sl SPecial purpose s ol wSe o)l slixe ol pl el “general purpose” o5l b sl o "tailor- mode™ o5l x| o

OR, AND by L8g;> g "to be" Jledl jl osliiaml b gsj gos> (v
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Example 1: Invent Resources is an inventions-on-demand company made by a group of four people.
(@) CLUE: to be

(b) MEANING: name of a company.

Example 2: The key feature among them was the use of Hypertext, or "hot" portions of an
online document.

(a) CLUE: or .

(b) MEANING:__ "hot" portions of an online document.
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Example 3: Through "custom design™ the designer can have control over the circuit style and
topology, device sizes, and the physical design.

(@) CLUE: and .

(b) MEANING: style or formation

O ool aals L bLs )l o (cul olay o qulbyw a8) S0 anS Slo OF Ly, G oyl Lo 0 13S0 &
D3 medles 1) 51 e 5 50 a8 il o

JC
I will ask to what extend they help (or hinder) our investigations into the nature of design
activity.
(@) CLUE: or .
(b) MEANING: stop helping

Lo 13Scuolle g huogs il jle jl oslitwl b liso > j Yus> (o
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Commas
brackets [ ]

Dashes

single quotation marks ©  °

Parentheses ()

double quotation marks " "

Example 1: They created an electronic circuit that mimics the biological circuitry of the cerebral
cortex, the brain’s center of intelligence.

(a) CLUE: appositive .

(b) MEANING: brain’s center of intelligence.

Example 2: they created an electronic circuit that mimics the biological circuitry of the cerebral
cortex, which is the brain’s center of intelligence.

(@) CLUE: clause .

(b) MEANING: brain’s center of intelligence.

Example 3: This latest advance in "neuromorphic” engineering- creating devices that behave
like neural system- was achieved by a team of MIT researchers.

(@) CLUE: appositive .

(b) MEANING: creating devices that behave like neural systems.

Example 4: Many developing nations have embarked on this road and a loose formula of
employing fixed cellular networks for local loops, the proverbial "last mile™ in the
communications network systems, and satellite transmission for long distance and international
communications has emerged.

(@) CLUE: appositive :

(b) MEANING: local loop
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Example 1: This hardware can do complex perceptual tasks such as recognizing objects by sight.

(@) CLUE: examples :

(b) MEANING: relates to ability to see, hear, or understand.

Example 2: The class library eliminates the need to program directly in assembly language,
making it easier to get "close to the hardware’.

(@) CLUE: __other words in the sentence

(b) MEANING: removing the need

Example 3: who the author blames for negative effects of wireless telephones?

(@) CLUE: common sense :

(b) MEANING: say that one is responsible for something.
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Computationalism is one of the most pervasive and influential paradigms currently operating in
the area of design research.
AL 5IUpervasive” cos oS 8,5 ass g e oSS sl |, el Meffective” ol a5 Minfluential” el ae S
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Antennas are on unsightly intrusion into local parks and playgrounds.
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UWB involves transmitting low- power streams of excessively short puleses- on the order of
10,000 picoseconds.
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Although Microsoft’s products are currently used in any private companies they are moderately
used in public organizations.
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"... We always thought computers had to become popularized, and instead the public has
decided to become surprisingly technical. This is due in part to the stalwart marketing of
awkward software by Microsoft, and in part to the economic pressures favoring open systems,
which ..."

Q: Which of the following statements best describes Microsoft practices? Microsoft ...
1) sells its software awkwardly
2) awkwardly advertises its stalwart software.
3) strongly and bravely advertises its clumsy software.
4) awkwardly advertises its great software.
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"... Invent Resources, known as IR, is an inventions-on-demand company made of a quartet who
got the idea to join forces for invention of new products ..."

Q: What is meant by a quartet in the above passage?
1) a group of four persons
2) a company comprised of four sections.
3) a company with four major developing phases
4) all of the above
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A proposal on a product design defines the project and how to reach the objectives. The

closest in meaning to the underlined word is ...
1) origins 2) goals 3) definitions 4) descriptions

O aiy 35 1
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"when we want to define a project, we should also determine how to reach its objectives”
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One of the results of the ... in solid- state technology is the capability of fabricating very

large numbers of transistors within a single chip.
1) evolution 2) advancement 3) development 4) improvement
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Q: What is the advantage of the Internet 3D Graphics- enhanced shockwave Player?
1) enables low quality interactive games.
2) engages entertainment, and more intuitive online shopping.
3) may not support the next generation of bandwidth-friendly games.
4) would help to restrict the use of 3D content on the Web.
O a3 s
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Q: The technology ...
1) employs manufacturers who do not need any help from chemists
2) uses a process that does not involve any chemical changes.

3) keeps a list of those employees that do not require chemical changes.
4) fires those manufacturers who require chemical elements for their process.
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Q: According to the text, the designer of a circuit macro ...
1) customization decreases parasitic but not the stage delays.
2) minimizes the number of stage delays prior to customization
3) does not necessarily have to have an understanding of the circuit topology
4) must be aware of the physical and electrical context of the macro
LY .1
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Q: How did the author of this article receive his or her teaching experience?
1) By teaching undergraduate university students
2) Professional programmers at an undergraduate university
3) By taking multi- day industrial courses as and experienced professional programmer
4) By teaching both undergraduate university students and industrial programmers.
W a3 1 k8
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"We envisioned a distributed computing model with billions of objects scattered over the
globe, interacting with each other via the Internet. Because objects in one Java VM usually
communicate with method calls, we believe that a communications system based on remote
method calls is conceptually simpler than a message- passing system. Although message-
passing is more general communication framework, developers are more comfortable reasoning
about and using method calls to communicate between objects. Unfortunately, many existing

remote method call systems are quite complex and have many steps to learn and repeat. JEDI’s
primary goal is to simplify or eliminate as many of these steps as possible.

Q: Java- based objects over the globe interact with one another using ...
1) repeatable protocols 2) remote access network
3) message- passing methods 4) general communication frameworks
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"... Hardware modifications like full or partial scan ease the task of test generation but they
significantly may increase the test application time. This increase is mainly due to the extra tester

clock cycles needed to load specific logic values into scan flip-flops (FF’s) and observe circuit
responses collected in the scan FF’s."”

Q: What factor is the most influential one in increasing the test application time?
1) the passage does not derive any conclusion
2) observing circuit response collected in the scan FF’s.
3) extra tester clock cycles needed to load specific logic.
4) applying the test sets and checking the responses.
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Part A: Cloze passage

Questions 1.10 are related to a Cloze Passage will, blank spaces. Choose the one choice which best
completes the passage.

Sometimes you might feel that if you had a perfect memory, all your problems with learning would be
solved. You would be able to (1) ...... through exams without much revision. You would never again
face the (2) ...... of forgetting someone's name. But imagine for a moment, not forgetting anything-not
even last year's shopping (3) ...... You would be (4) ...... with information.

Memory covers a wide range of actions and needs. What we know about the grain is far from
complete, so philosophers and scientists find it difficult to be (5) ...... about the nature of the memory.
Remembering and forgctting can be understood in many different (6) ...... but broadly, three distinct
classes of memory have been established: personal, cognitive, and habit memory. Personal memories are
those acts of remembering whbich refer specially to each person's life history. If you say "I remember the

first time | traveled by train", you will probably have an image in your mind of the (7) ...... and be able
to describe things in it. Cognitive memory helps us learn, for example, a speech or a (8) ...... of
music. Habit memory (9) ...... those abilities needed to perform actions such as typing or driving. All
these actions must be learned but once they have been, you will rarely remember anything (10) ...... as
you perform them.

1- 1) sail 2) walk 3) send 4) fly

2- 1) comfort 2) embarrassment 3) emphasis 4) encouragement

3- 1) receipts 2) notes 3) lists 4) tips

4- 1) overweight 2) crowded 3) burdened 4) overloaded

5- 1) precise 2) explanatory 3) correct 4) sensitive

6- 1) concepts 2) ways 3) constructs 4) images

7- 1) occasion 2) happening 3) process 4) thought

8- 1) section 2) bit 3) piece 4) branch

9- 1) means 2) persists 3) directs 4) responds

10- 1) totally 2) finally 3) hardly 4) consciously

Part B: Reading Comprehension

Passage 1:

Your eyes are about three inches apart, it is the reason why you see the world in three dimensions. The
separation gives your eyes two slightly different views of every scene you encounter. In the brain’s visual
cortex, these views are compared, and the overlap is translated into a steroptic picture. To extimate
relative instances, your brain takes a reading of the tension in your eyes muscles.

But you only see in 3-D up to about 200 feet. Beyound that, you might as well be one-eyed, your eyes
are not far enough apart to give two very different views over long distances. Instead, you rely on
experience to judge where things are; the brain looks for clues and makes its best guess. For example, it
knows that near objects overlap far ones; that bright objects are closer than dim ones; and that large
objects are nearer than small ones.
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These “monocular cues” are what painters use to trick us into thinking a flat canvas is three -
dimensional and miles deep. That’s why paintings are much more convincing if you close one eye: Your
brain hunts down all the clues the painter has dropped. But when both of your eyes are open, the brain
gets more information and mixed signals. The paint may say miles, but the muscles in your eyes say
inches.

All of this fancy eye work is second nature to us, but is is learned. “Other culture don’t perceive pictures
the same way we do, “says J.Athony Movshon, Ph.D., associate professor of psychology at New York
University. “For example, primitive people don’t always think bigger means nearer. It’s our Western way of
seeing things, and it’s a way of seeing that we’ve learned.”

11- The primary purpose of the passage is to explain:
1) how we see in three dimensions.
2) the difference between Western and primitive cultures.
3) the use of 3-D paintings.
4) why your eyes are three inches apart.

12- As used in the passage, stereoptic means ......... .
1) reversed 2) three-dimensional 3) monocular 4) upside-down

13- 3-D vision would be most useful in looking at which of the following?

1) a distant mountain range 2) the scenes in visual contexts
3) clouds 4) paintings
14- The author mentions cultural differences in perception to support his point that ......... .
1) Bigger means nearer 2) fancy eye work is second nature
3) we get mixed signals from paintings 4) perception is learned
15- The language used in this passage can best be described as ......... .
1) argumentative 2) humorous 3) impersonal 4) informal
Passage 2:

Ambient divers are, unlike divers who go underwater in submersible vehicles or pressure resistant suits,
exposed to the pressure and temperature of the surrounding (ambient) water. Of all types of diving, the
oddest and simplest is free diving. free divers may use no equipment at all, but most use a face mask, foot
fins, and a snorkel. under the surface, free divers must hold their breath. Most free divers can only
descend 30 to 40 feet, but some skilled divers can go as deep as 100 feet.

Scuba diving provides greater range than free diving. The word scuba stands for self-contained
underwater breathing apparatus. Scuba divers wear metal tanks with compresses air or other breathing
gases. When using open-circuit equipment, a scuba diver simply breathes air from the rank through a hose
and releases the exhaled air into the water. A closed-circuit breathing device, also called a rebreather,
filters out carbon dioxide and other harmful gases and auiomatically adds oxygen. This enables the diver
10 breathe the same air over and over.

In surface-supplied diving divers wear helmets an waterproof canvas suits. Today, sophisticated
plastic helmets have replaced the heavy copper helmets used in the past. These diverse get their air from a
hose connected to compressors on a boat. Surface-supplied divers can go deeper than other type of
ambient diver.

16- Ambienl divers are ones who ......... :
1) can descend to extreme depth 2) use submersible vehicles
3) use no equipment 4) are exposed to the surrounding water



P | S-S PR E—

mqn aadd gy [ ] v

WWW.ma ir

17- According to the passage, a free diver may use any of the following EXCEPT ......... .
1) a rebreather 2) a snirkel 3) foot fins 4) a mask
18- According to the passage, the maximum depth for free divers is around ......... .
1) 40 feet 2) 100 feet 3) 200 feet 4) 1000 feet
19- When using closed-circuit devices, divers ......... .
1) exhale air into the water 2) hold their breath
3) breath the same air over and over 4) receive air from the surface

20- According to the passage, surface-supplied divers today use helmet made from ......... .
1) glass 2) copper 3) plastic 4) canvas

21- Where in the passage does the author mention which type of diver can make the deepest
descents?
1) line 2-3 2) line 4-5 3) line 12 4) line 15-16

Passage 3:

After two decades of growing student enrollment and economic prosperity, business schools in the United
states have started to face harder times. Only Harvard's MBA School has shown a substantial increase in
enrollment in recent years. Both Princeton and Stanford have seen decreases in their enrollment, Since
1990, the number of people receiving Masters in Business Administration (MBA) degrees has dropped
about 3 percent to 75000, and the trend of lower enrollment rate is expected to continue.

There are two factors causing this decrease in students seeking an MBA degree. The first one is that
many graduates of four-year colleges are finding that an MBA degree does not guarantee a plush job on
Wall Street, or in other financial districts of major American cities. Many of the entry-level management
jobs are going to student graduating with master of Arts degrees in English and humanities as well as those
holding MBA degrees. Students have asked the question “Is an MBA degree really what I need to be best
prepared for getting a good job?” the second major factor has been the cutting of American payrolls and the
lower number of entry -level jobs being offered. Business needs are changing, and MBA schools are
struggling to meet the new demands.

22- The word ""prosperity™ in line 1 could be best replaced by which of the following?
1) success 2) surplus 3) nurturing 4) education

23- Which of the following business schools has NOT shown a decrease in enrollment?
1) Princeton 2) Harvard 3) Stanford 4) Yale

24- The phrase “trend of” in line 5 is closest in meaning to which of the following?
1) reluctance of 2) drawback to 3) movement toward 4) extraction from

25- As used in line 7, the word "'seeking'* could best be replaced by which of the following?
1) examining 2) avoiding 3) seizing 4) pursuing

26- Which of the following dcscriptions most likely applies to Wall Street?

1) a center for international affairs 2) a major financial center
3) a shopping district 4) a neighborhood in New York
27- The word "'plush™ in line 9 most probably means ......... .

1) legal 2) satisfactory 3) ordinary 4) dependable
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